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Model Paper
hef—XIl Y
Sitg fasim (Biology)
Y : 3 ©¢ + 15 e (srfaRe) quiies : 70
Time : 3 Hrs. + 15 Minute (Extra) [Total Marks : 70]

=g e (General Instructions) :

a1 v arfard € | (All questions are compulsory)
T SR B foy fhefl arE @ ofd &1 Fwekil T8l 8l |

(There is No negative marking for any wrong answers)
gea-u4 &l WUs! # & | (Questions are in two sections)

Hus—| (Section-l)

q&Ifss ye (Objective type questions)

%ol 3 (Total Marks) 35
@yl @ 91 (Total No. of Questions) ; 35

Tus—I|l (Section-ll)

IR—axqfss gga (Non-Objective type questions)

oY IR 4 (Short answer type questions) 11 (ISP 2 3id) 10x2=20
& SR U9 (Long answer type questions) 03 (UAP 5 3ih) 3x5=15
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i Gl gt BT SR ST B A H T |

(Answer should be in your own language as far as practicable)

Tlen B SR doldeic? AfRd Bl Al aRE B g +h FIF (I AITSd, o
$eaife) T YANT |der afvid ® | ‘
(Electronic gadgets like calculator, cell phone, pager are strictly prohibited)
RGPS Tl @1 SR Y a0 gHo R0 Wie # SugE ke B U | W |
(SaTeror & fg afE SeR (C) B o Mot A1 FA T A W Rafed w¥-)

(The answer of objective quesions is to be provided OMR sheet by completely

darking the appropriate answer option. For example if answer is (c) the you
should darken it as shown by blue/black pen.

(@) (b) (@) (d)
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Eus—| (Section-l)
q&ifrs3 gy (Objective)

wrs—I ¥ 1 @ 35 axqfrs yea 2, s 4 Reer fad v €, v fawew
bR A T IR e IR ST < |

| 35x1=35
In section-l, there are1to 35 objective type questions with 4 options choose
the correct option which is to be answered on OMR Sheet. Each guestion

carries one mark.

35x1=35
1. fy=ifea ¥ o9 fRea %a © ¢
SRR g, 3 g, bl g 394 9 BIg T8l

Which of the following is false fruit ?

a. Apple b. Mango c. Banana d. None of these
2. fiere wevr e A @ fo faan S g 2

31, AaIlRan 4. CISTATTS q. S 3. 31 | PIs 7RI

WIDAL TEST is done to confirm

a. Malaria b. Typhoid c. Dengue d. None of these
3. fgwvsd um o & —

31. STeregedl q. P . e T T | BIS e

Binary fission occurs in -

a. Water hyacinth b. Lotus c¢. Amoeba d. None of these
4. O ERT WR—URTTUT 61 HEd 8 —

A qY-RAV  § FA-WREOT W PRERET T i

Cross-Pollination occures through water is known as -

a. Anemophily  b. Hydrophily c. Entomophily d. All of these
5, frifed § o dF-waRd AT B 7
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10.

Which of the following is Sexually transmitted disease ?

a. Malaria b. AIDS c. Dengue d. None ofthese
frferRa # ®I9 amgaiie darel weamar g ?

3. €0 TH0 Yo & UIeH GRS T T

Which of the following is known as herediary material ?

a. DNA b. Protein c. Fat d. All of these
% gATeld e fear —

31, ared Ud fobh 9. §ISel U4 ccH

9. fieR vd PR T Sl%d 4 A

The concept of Lac-operon was given by

a. Watson & Crick b. Beadle & Tatum

c. Miller & Urey d. Jacobe & Monod

S g9 H T SR Bl B 7

31, 3raret 9 AT 9. d9R dRe T T | Py ALl
Which microbe is used in manufacturing of bread

a. Algae b. Anabena c. Baker's Yeast d. None of these
JGHSAT ATZLIST DI B ReRIgd HRal 8 7

31, wrgAefdeRar 9 dard 9 fawop T 3 A B TR
Which of the following fixes atmospheric nitrogen ? |
a. Cyanobacteria b. Algae c. Virus  d. None of these

& < TR BT IUART BT & —

3. €U T B R @ SITE @ geed & forg
g, TwolrgH | gae

q. i & yae| @ forg

AR

PCR is used in -

a. Amplification of special segment of DNA

b. Amplification of enzyme

c. Amplification of Protein
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12.

13.

14.

15,

16.

d. All of these

S IR AHd §qel fad §ar 7 2

6. SIar] ¥ Bha RIS T IR
Genetically engineered human insulin is made by -

a. Bacterium b. Fungus c. Plant d. Yeast
MeeH gd fha faerfim & aRqef <& & -

3. U g . S a3

Golden rice is enriched in Vitamin -

a. A b. C c. D d E

IR 9Teg &l ATHDHRUT fhar —

31 AT g 1o Sflo TSl . AT T PIg T8I
The term ecosystem was coined by -

a. Morgan b. A. G. Tansley c. Lamarck d. None
e # fgd qiyo—wR grar § —

31. UTgUceTdd 9. Tforcerad H.3 qAT 9 S Bls el

Second trophic level in lake is -

a. Phytoplanktons b. Zooplanktons
c. Both Aand B d. None
fefalRaa § oF M-8 19 8 —

31, BT SIZIATRATS S CACIDE]

| U <. 4

Which of the following are known as green house gas ?
a. CO, b. Methane

c. CFC d. All of these
g W faof &1 T § -

31. SISl g, ofTel urel

. e Al 13 g, o+

Which of the following are extinct
a. Dodo b. Red Panda

¢ Steller's Cow @ d Al of these



17.

18.

18,

20.

21,

22.

ORI 9§ —

3. BISSl H g, o H
3 H T |
Gemmules formed in

a. Hydra b. Sponge

C. Yeast d. All of these
Sl BT @RI S dTell YT hEdlal 8 7

31, A . Uiy

. TR GG RG]
Edible part of litchi is

a. Tegmen b. Endosperm
c. Integuments d. Aril
BB FfoRad # fhaer ged & ?

31, fdeid 3Tt q. Sifde ferfeerdl

. DIO IS IR Jorlet] &, 94
Phosphorus is an important constituent of

a. Nucleic acid b. Palsma membrane

c. Cellular energy transport system d. All

fAreferRad & —d1 I YTSISTeT UReld! gRT |1 8lar © 2

3. eMidivd 9 HelRa . BIATIR g a4
Which of the following disease is spread by Protozoan Parasite ?
a. Amoebiasis b. Malaria c. Kala-azar d. All
famTo] ST SR I PR B —

31, gl faumy q. Sirar) ATl

| Sy A g DIs A8l

The virus which causes cancer is known as -

a. Oncogenic Virus b. Bactoriophage

c. TMV d. None
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23.

24,

25.

26.

3. ST STt B TATE St § aqd o ¥
9. IS ol B YBrT FHoft § 98 I & |
. 31 TAT 4 HET B |

T T DI TR

Green plants are known as producers, which
a. Convert light energy into chemical energy.
b. Convert chemical energy into light energy.
c. Bothaandb

d. None of these

fo fS== & ®a fFHiT B |7 FEd § 7

3. JUGTHA. 9. SRS
GACIELCICER| CARSE

Production of fruit without fertilization is known as

a. Apogamy b. Apomixis

c. Parthenogenesis d. All of these

HTIAT s 3TaReIT H gaT 7 ?

31. FELAT PIRTST ST 9. TATSCINGG HIRTHT faTer
. G PIRTHT farer T 3T 9 Pig T8I
Chiasma formation occurs during -

a. Mitosis cell division b. Amitosis cell division
c. Meiosis cell division d. None of these
THIH 91T & —

3 ST WA 9. 3R, TA. T

. PTY HT T, |qH @I

Acrosome is a part of

a. DNA b. RNA

c. Spermatozoa d. All of these

3N R T Sl & —

31, CIYRAhaR 9. TFqhar
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9. AN bR T TR

Ozone layer found in

a. Troposphere b. Exosphere

c. Mesosphere d. Stratosphere
27, TAITATS ¥ . UA. T BT @ B AU w1 e wer R -

3. PRAA | 9. UHTel &

9. sifeTd dHTSS S |

Which is use to see the DNA in laboratory

" a. Carmine | b. Anilline blue

c. Ithidium bromide d. All of these
28. =Ifha # 9 B9 B1E SF B9 B Bed A g9 £ ?

3. Cry | Ab 9. Cry Il Ab

4. Cry Ac T |4l

Which of the following cry gene prevents crop from borer.

a. Cry I Ab b. Cry Il Ab

c. Cry Ac d. All of these
29. Bolt &1 fURifae BT @ —

31. 9Qd Tl 9 Aag 9

. QI 37 AT @ g 379 9 Big Tal

Pyramid of energy is

a. Always downward b. Always upright

c. Bothaandb d. None |
30. f=Tifhd H Ha—SdRS B9 & ?

3. argfaeRan q. faurop

9. fauroprSH AR

Which of the following is known as bio-fertilizer ?

a. cyanobacyteria b. Virus

c. Bacyteriophage d. All of these

31. =ifdd # ®I9 Aeolid) Hee gRT Aseror ReR &yar & ?
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32.

33.

34.

35,

31. dfcraa EANESIIERE

q. BRI T 31 9 Py LI

Which of the following fixes nitrogen in symbiotic association
a. Volvox b. Rhizobium

c. Chara d. None of these

T DI UINOT T[0T HIF 9@l & 2
SANSIDISCIRCIC CARICAECIE . SIg—JeRD EACIDI|

Which of the following enhances nutritive quality of soil ?

a. Chemical fertilizer b. compost

c. Bio-fertilizeer d. Band C

AT HRR @ -5 4 8 ?

ar. u, &, < qer a&n g 1 @, St g e

. T, d1, T qer an <. Sugal Al

Human blood groups are

a.A B, CandO b.B,C,Dand O

c.A B,ABand O d. All of these

FHAAT TS UTS Sl & —

31. qgord 9. Jgolal T HOR STl Qi
9. HOR e T. ST | IS R

Catla fish found in

a. Fresh water b. Both fresh water & hard warter
c. Hard water d. None

U A <& 999 H f Sfiar] &1 SuIhT Bl © P

3. USRI THH 9. daedes

. TAEAT T. ST 9 BIs T8

Which bacteria is helpful in the conversion of milk to curd

a. Streptococcus b. Lactobacillus |

c. Anabena d. None
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Tus—|| (Section-ll)
IR—ax]f 1 9T (Non-Objective)

=T 10 go=71" & GIv 50—70 FI) H ford, §AT §IT 2 HH BT 8/
Write the Answer of any 10 question in 50-70 words. Each

question carries 2 marks.

1. gEI-Uo ¥ ol IR oM @ IR ¥ fod |
Write any four benefits of Micro-propogation.

2. TR 99 & IR § qan |
Describe ébout parthenium weed.

3. 3% B URFIRT HX | HIT—H T TRE & AgRer & ¢ M I |
What is adaptation ? Name the two types of adaptiation.

4. Yfrergd w7 © ? dey H o |

What is transcription ? Write in brief.

5 Wg—fIerT | 1 FHS © 7
What do you understand by organic evolution ?
6. I Y BT & ? 3B lv Ud AEEer & aR H ford |

How is rabies caused ? Write about its symtoms and control

measures in brief.
7. wfoved WR wfera feweh ford

Write short notes on Plasmids.

8. SIS~ RIFgM & a1 W weToT §a |
Write down two important symptoms of Down's syndrome.
9. yfdus USTsH W I 9HSI ® ? Tl &1 & AW 9am |

What do you understand by Restriction enzyme ? Give the name

@ k@* (,
b

of any two.




10. USRSl & o9 Hgcayul bl &l qan |

Describe in brief any three functions of antibodies.
11, SIF—JAiT & a1 998 & ? ford |

What do you understand by Gene-cloning ? Explain in brief.
12, ITgAYSH dmoF @1 7 ? fod |

Explain what is global warming ?
13. &1 & U R |9 7 fewoft ford |

Write short notes on Bt cotton.
14, SIS & R # qarg |

Write about Jumping-gene (transposons)
15.  UTGY o= & fbeal aR Seedl &l ford |

Write about any four objectives of plant breeding.

arel SO g —
Long answer type question :--

foifed ot & @ f5=E 19 o & ST 150 9 250 Wt A Q| URAS
U 5 3Ad BT 2 |
Write the answer of any three from the following questions in about
150 to 250 words. Each question carried 5 marks.
16.  HHTEIITC @1 A ok 596 #Ew & IR § quid BN |

Give an account of the methods and importance of Api-culture

OR,

[EHAT AT BT & oIy HY AeID & ? |

How microbes are essential for human welfare ? Explain.
17.  demfa @ fEl @ faaEer |

Discuss Mendel's law of Inheritance. \
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TAGTI—31T TAT STFASI—31T T & ? AIGTExvT FHST |

What are homologous and analogous organs ? Explain with suitable
examples.
1. feifoRaa # & fosdl &1 W fewol fordd
&, U1 91 3R
9. 9. T U R fufeT
|, yfcRefTeRor
g gfordr
Differentiate between the following :-
a. PCR ; b. DNA finger printing
b. Immunization d. ELISA
OR,
gt € T T Wt @ WehH 1 quid B |

Give an account of the processes of Recombinant DNA technology.
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Blue Print

Question design, Its frame, Pattern and Distribution of Marks

1. 50% objective & 50% subjective.
2. Pattern of objective questions.

Type Details No. of Questions Marks

1 Single Correct Answer 35 35 (1x35)

Total | 35

3. Pattern of Non-objective type questions

1 Short answer type (50-70 Total No. of Questions Questions to be Marks

words) questions answer
15 10 10x2=20
2 Long answer type questions 06 03 03x5=15
(150-250 words)

4. Chapter wise weightage (Detail of questions)

McQ SA LA Total Marks
I Reproduction 06 6 06
Il Genetics& Evolution 18 7 3 (+1) 1(+1) 18
m | Biotechnology & its 18 8 2 (+1) 1(+1) 17
Applications
lv Applied Bio & Human 18 8 3 (+1) 1(+1) 19
Welfare '
\ Man & Development 10 6 2 (+1) 10
Total Questions 35 10 (+5) =15 3(+3)=6
Total Marks ' 35 20 15 70
5. Blue Print of Proposed '
Question Paper (chapter wise)
Level : Chapter
| ] i \ \Y, Total
Marks
Easy (25%) = 18 MCQ 4 4 4 4 2 18
Average (60%) = 42 MCQ 2 2 2 4 4 14
SAT 2 2 3 2 18
LAT 1 1 10
High order MCQ 1 2 03
Objective SAT 1 02
Non-objective (15%) = 10
: LAT 1 05
06 18 17 19 10 70

6. As per CBSC, pattern of questions suggested are :
|- Remembering
Il- Understanding
I1l- Allocations
IV-High order Thinking skill




IR UFd (Answer Sheet)

ISEs b Biology Answer

Sfta—fa=m

Objective Question (T\‘ﬂﬁfﬁﬁ 92-)

1 a 18 d
2 b : 19 d
3. € 20 d
4 b 21 a
5 b 22 a
6 a | 23" ¢
7 d 24 ¢
8 ¢ 24 ¢
9 a 25 ¢
10 a 26 d
11 a 27 €
12 a 28 d
13 b 29 .5
14 b 30 a
15 d 31 b
16 d 32 d
17 b 33 €
34 a

35 b
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